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1.Null hypothesis 2.Detection limit 3.F — test 4.Activity
5.Buffer  capacity 6.Internal  standard 7.Johnson  noise
8.van Deemter equation 9.Hollow cathode lamp
10. Quantum efficiency

. What volume of 2.00 M NaOH must be added to 300.0 mL of 1.00 M

Iy

glycolic acid(HOCH,CO,H) to produce a buffer solution having a pH of
4.00 ? (H=1, C=12, 0=16 , Kagycolic acia) = 1.47 X 107*)  (10%)

i

. A solution contains 0.01 mol CI" ion and 0.001 mol CrO,4” ion per liters.

Ag’ ion is gradually added to this solution in the form of AgNO;, which
will be precipitated first, AgCl or Ag,CrO4? (12%)

= . Calculate the equilibrium concentration of Ni*" in a solution with an

analytical N1Y, concentration of 0.0150M at a pH of 3.0 ?  (14%)

}~4

. Pd reacts with Thio-Michler’s ketone, forming a colored 1:4 complexes. A
0.2ppm Pd sample gave an absorbance of 0.390 at 520nm using a 1.00-cm

cell, Calculate the molar absorptivity &  for this reaction?  (12%)

= . Explain differences between plus polarography , differential-plus

polargraphy, and AC. Polarography? (12%)

(#*1F - %x1F)



